IGOMU ENE MICHELLE

CHEMICAL ENGINEERING

17/ENG01/013

ENGINNERING MATHEMATICS IV ASSIGNMENT IlI

GAUSS ELIMINATION METHOD

A)

(== TR = RS R R o R

MName Box o o E F
T 2 2 L T = T
| g -z 2 4 2 -6
! z g - -z 4 z
! 10 4 -2 -z 4 z
| - -z g 3 2 B
! & £ z -1z -6 -4
I

1

| z z -3 z 3 -z
! 0 -5 10 0 -10 -z
! 0 4 -z -4 -z g
! 0 -G 15 -1z -Z6 12
: 0 4 -5 12 20 0
| 0 -z 15 -20 -30 g
1

| z z -4 z 3 =z
! 0 -B 10 0 -10 -2
! 0 0 46667 -4 -f.6EBT ZEBEET
| Q 0 g -1z 16 14
i 0 0 -1333 213333 -1333
| 0 0 14687 -20 -2667 .BEET
I

L

! z z -4 z E -z
! 0 -G 10 0 10 -z
i 0 0 46667 -4 -G.BBT Z2EGBET
! 0 0 0 -5143 -1143 94286
; 0 0 0 10.857 10.857 -0.571
: 0 0 0 -7.423 0574 -374
I

1

I z z -4 z E -z
i 0 -6 10 o -1 -2
! 0 0 4.BEET -4 -G.BBT ZEGET
: 0 0 0 -5143 -1143 94286
| 0 0 0 0 G.dddd 19333
: 0 ] 0 0 zzEer 1733

12
36
-57
-E3
ad
=123

1z
36
-33
-105
108
-141

1z

36

-33
-45.43
33.571
-37.23

12

36

-33
-45.43
-3.667

32667

FPIOT RO

FPIOT RO

FPIOT RO

FPIOT RO



A E [ [} E F G H | J
0| 0 0 M.E67 -20 -26.67 4.6667 | -1H|
O
2z | 2 2 -4 2 B -2 12
23 ) 0 -B 10 i} -10 -2 36
24| 0 0 4.6667 -4 -G.6GT Z2.GBGT -33|PNOT RO
25 ! 0 u} 0 -5143 -1143 34236 -d5.43
% 1 0 a} 0 10857 10857 -05T1 33.571
27l 0 i} 0 -7423 0574 -371d -37.29
2 |
2 | 2 2 -4 2 E -2 12
| 0 -6 i1 ] -1 -z 36
kil E 0 0 4.6EET -4 -B.EET Z.EEET -33
32 ] u] o 0 -5M3  -1143 342586 =45 43| PVOT ROW
33 ] 0 u} u} 0 Gdddd 13333 -3.66T
4! 0 i} i} 0 22222 A7.33 32 BET
%5 |
*® | z z -4 2 3 -2 2
i | 0 -6 i1 ] -1 -2 36
] ! 0 0 4.6EET -4 -B.EET Z.EEET -33
Y u] o 0 -5M3  -1143 342586 -45.43
40 | 0 u} u} 0 Sdddd 13333 -3.BET|PINOT RO
H u] o o a 0 =224z 33632
4z |
43 | T -15
Ty TS 3
45 | T4 g
46 | T3 4.5
47 | Tz -3
4 T1 15
49 ]
B)
WTIEEY: ® o= & [ =] &1 2 o b e | BT
[Momal |[aria =l ~l| B £ H ws 4 5 B x
(2 2 4 2 6 2) [ 2] sn 12 3 +
422 4 2 =5 & = 0 - =
206 6 2 4 2 T s
Tl 2 a2 -
-6 -2 4 6 2 6 | 4 |
L8 6 2 -1 -6 ) L8
(a0
20— \2e) (20,0
[ ag 5 r bo.o
( (a0 (a0
12000 11— |- (20,1} — |- la3) A |-laga) as—1 —1-{a.s) bro—|— | (boo)
\ \ 20,0/ \ 3.0/
[ (a0 (a0
lag.e) 21 —| — | (a1} — | las) aa—| =] laga) aas—| — |- {2 bao—|— | (boo)
\ \ 3.0/ \ 3.0,/
ai= ( [23.0) bi= [23,0)
lag.o) &3 - |- lapa) — |- laps) asa—| | laga) a5s—| —|-lags) big—|— | (boo)
L \2.0/ \30.0,/
( (a0 (250
— | {20 31— — ] (a,) — |- la0s) 24— P -lap.e) 25— ——1-{as) byo—|— | (bo0)
\ \ 3.0/ 2.0/
21 {ag0) 3:‘1—‘ 21 (a0 — |- l2ps) as4- %1 (a4 ai:'_!E\:'la-Di’ bs ®1-{to.0)
| \ Lap.o/ i L

f22 4 2 &6

0610 0 -10 2
o424 2 bz
ai= 69
0 -6 18 -12 26 12
04 -8 12 20 0 |
| | L —12
L0218 20 =30 4 ) 19



Ll bl | S LS v | b CEER TR W RS | e o [ T Y

R R ET I /]

tan g 8 /
Noml [adal = Bz ul|= = | w46 B =
S04 2 4 2 4 wie| 7 ift 2 3 +
ai=
0 -6 18 -12 -26 12 - = 0o - =
0 4 -8 12 20 0 M
0 -2 18 20 30 4 -l
7 7 7 7 7 _ [ big o 1
.0 a1 p 2 3 Ay 4 2y 5 ;
) ) ; ) ) bij o
a0 a1 a2 &l 3 a4 ai
i i ; ; biy g - [ﬁ] - iy g
- - an | P . ay P ag | P ay | aly ’ : ’
ai g 312.1—[.—]'{311.1) mz.z—[.—]'l‘“l.z} mz;—[.—]'(ml 3) 3114—[.—] {214 3125—[—] (a1 5) 1.1
)y 1.1 1.1, 1.1, ai;
; : ; ; bii = bi~o—["]-bi10
a3 ] ¢ a3 | . aiy | . aly | 3, " R
aii = 0 3-151—[ = ]'lml.l) 3-‘5.1—{ = ]'l‘"’-‘l.z} 3-‘;5—[ - ]'(ml 3) 31;4—[ - ] (ai; 4) ai [ ] (i1 5) .1
)y aiy a iy iy ais
i i ; ; bl'ua.o—[.—']'bil.o
. . LN, . 1) gl . 41 !
aig g mﬂi.l_[._]'{ml.l) 3-14.1—[.—]'(3-‘1.1} 3—‘4;—[.—]'(1‘1 3) 3*4.4—[.—] (214 3-\45—[—] (i1 5) 1.1
1.1, 1.1 1.1, 1.1, ai ais
i ; ; bis o - [—] - bip g
. . 5.1 g, . 5.1 ) ¢ 5.1} 15 a5 . i :
ais o mﬁ.l—[.—]'lml.l) mﬁ.z—[.—]'l‘“l.z} 3-‘5;—[.—]'(3-‘1 3} ais 4—[.—] (214 3155—[—] (i1 5) L 1.1, E
L )y aiy a iy i
12
212 —4 2 ] -1 ] 36
0 =6 10 0 10 =2 33
10 0 4667 -4 -8667 2667 =| _ios
aii =
00 g -12 -1s 14 108
0 0 -1333 12 13333 -1333 141
0 0 14667 20 -26.667 4.667 | .
s . o0 o - § Yy oL A
SHEGRY | 2@« T (we= P& o <@ e e R R
an
[Wormal ]l = = B r o iz = w4 B B o
= T 0 466/ —& -Bobs 21007 —105 ;
Al = gin 1 2 3 +
(U] 8 -1 -l16 14 108 _ o _
000 -1333 12 13333 -1333 st - B
0 0 14667 20 -26.667 4.667 .
_ _ [ biiy g ]
aiig o aiip | aiig 3 aiig 3 aiip 4 aiiy 5 --
B B R B B B bi; o
aiiy o aiy g aiiy 5 aiiy 3 aii) 4 aii) s biis o
aiiy o aify ) aiiy 3 aii 3 aily 4 aiiy 5 adiy 5
. . . . biiy o= | 22| (b o)
. . X ay g o i 3 . . aya| . a; g i = - [ ] 2.0,
| ailyp ailyy aﬂ;z—[ — ]'laﬂzz} ail ;—[%]'laﬂz;} 31154—[+]'{31114} 3-11;5-[ = ]-{au“) bifi - a2,
am = aty 3 aty 3 aty 3, aty 2 aiy 5
.. .. .. .. - [22) (s
. - e B N . g g - - agz} . agp ) oo
aily o aiig; @iy - [—] (atfy o) aily s~ [—] ~atfy 3) afly g~ {—] +(atiy 4) 3y 5 - [—] (i 5 2.2
aty 7. aty 7 aty 7. 0.2, aiis 4 )
- - ails 3| - ails 5 - . als o) . fis 2| bils o _[ ] - (bdiz o)
aiis o afis ) @iy g — | —— |- (aly 5} aly 3| —— | (a3} ails 4- | —|-(aiy4) afis ;-] ——]-(ai;s) L -1 J
L aily g aily 3 any g any 1 _
22 4 2 1] -2
06 10 0 -0 -2 n
|0 0 4667 -4 8667 2667 6
am = +
o0 0 5143 1143 9429
o0 0 10857 10857 —035M
o0 0 7429 0371 3714

@



DEE SR

AEE LG

Elme = e A o v||&]?|

I T T A
tan

78 9
|Normal L"A"al L”m L” B I U | i= §E| s 4 5 B
22 4 2 5 2 an 1 2 3
06 10 o0 -10 =2 12 = 0 —
00 4667 -4 8667 2667 26
s —53
00 0 -51435 -1143 0420 b =
00 0 10857 10857 —0571 48420
00 0 -—7429 0571 3714 98371
—37.286
[ aitiy o b
aiily g
aiily g
i aiiy o
av =

aiti o

aitis o

- {aifl3 5]

- {aii

+ % o~

22 4 2§ = a
06 10 0 -0 -2 2
oo | 00 66T 4 w667 2667 _ 5
00 0 5143 -1143 9429 viv=| o ho +
00 0 0 8444 19333 3687
o0 0 0 2222 17333 32657
DEE SRY| 2B (o (" MR = (B84 w -|@8e| || B %t b b ta:
| Normal ||l x||10 i= ‘ -
sir
[ aivg o aivo aivpy aivg s aivp 4 aivy 5 i bivg g .
aivy p aivyp @vy y &) ; aivy 4 ER bivy g
aivy g aivy ) @vy y &y 3 aivy 4 aivy 5 bivy g
av = | @ivy o 8ivy ; 8iVy y 8iv; 3 V3 4 vy s bv = bivy g
aivy g aivy,) &iVyy Vs 3 aivy 4 vy 5 bivy g
aivs g aivs ) aivsy aivs s aivss-— [::i:] - (aivg 4} aivss- [%j:] (aivy 5) bivs g — [::j“] (bivy o)
22 4 2 6 -2 12
0 -6 10 L1} —10 -2 36
0 0 4667 -4 -B667 2667 -33
=00 o0 5143 -1143 0420 A
00 0 0 8444 19333 —3.667
00 0 0 0 -22421 33632




s mep = e A ] @R

DEHSRY| & B@ o o

INu:urmaI L”.-'l'«rial ;”'ID L” B I U | E = == iz
av = bv =
00 0 -3143 1143 090429 —48 420
00 0 0 3444 19333 —3 667
00 0 0 0 —22.421 336532
b,,r
T6 = 5.0
avs.s

Té=-135

s [bvy g — (avy s - T6]]

T
av4 4
T5=3
(bvs g — avy 5 - T6 — avy 4 - T5)
T4 = -
V3.3
T4d=6
T3 (bvyg—avys-T6—avy 4 T35 —avy ;- T4)
- avy 2
Ti=43
) {b"-’]__c.— avy 5 - T — avy 4 - T3 - avy 3 - T4 - avy 2 - T3li
- avy,1
T2=-3
Ti {b‘-’c._c. — avy 5 - T6 — avyg 4 - T3 - avy 3 - T - avg 2 - T3 - avc..l'I'il}
: avp.0 *
' a4 wow '




MATRIX INVERSE METHOD

E=SR TR ¥ )

[T £ R P —
IR = R = = =R = I ¥ ]

rara R
F-SERTERN V)

]
1

An1

T1
T2
T3
T4
T5
TG

B C D E F G
2 2 -4 2 6 -2
-2 2 4 2 -b
2 6 -6 -2 4 2
10 -2 -2 4 2
-b -2 4 B 2 ]
8 6 2 -12 -6 -4
-0.15141 0.077465 0.042254 0.098392 -0.05282 -0.0493
-0.27465 0.2723 0.406103 -0.10798 0.117371 0.053991
0.165453 -0.01878 -0.13146 -0.00117 0.164319 0.125587
-0.45775 0.342723 0.399061 -0.04108 0.001174 -0.10446
0.5345775 -0.26761 -0.37324 0.04577> 0.091549 0.102113
-0.07746 -0.07277 -0.0093% 0.089202 0.011737 -0.0446

T=(A"1)*B

1.5
-3
4.5
&

3
-1.5




D)

| d

i

- e
Ry BP = | s > & |[1oox ]| A

D [ SR @ Bl o o s r
INDrmaI ;".-'l‘-.ri-al ;"1'3 ;Il L & ||§§ = | = = |
2 2 -4 2 6 -2
4 2 2 4 2 —&
2 6 -6 -2 4 2
A=
w 4 2 2 4 2
— —2 4 [ 2 6
g8 6 2 —12 —6 —4
12
&0
—45
B =
—o
48
—81
A-T=B
Thar = A~' - B
+



